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Whal mass of hydrogen (g) must be burned in order
lo produce 42900 kJ of heal?

Molar mass of hydrogen = 2.02 g/mol

A-185
B - 303
C-830
D - 950
Hyg+3 0y —» HOy
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Using the equalions (1) and (2).What is A H value of f A Gl A H Al b (2)5 (1) ptlad pltndy @
Lhe lollowing reaction? \
A~ (+265.5k)) (+265.5kd) - A
B-(+192.7kJ) (+192.7kJ)-B
C-(-385.4 k) (-3854k)-C

D-(-770.8 ki) (7708 k) -D
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200440y — 200y A H=-566.0k) 1

Nyg+Oyy — INO . A H=-1806kJ
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The lemperalure of an ethanol sample increases lrom

[ AR F L7 TP ek
30 °C 10 75 °C as il absorbs 1098 J of heal. Whal is TS RE D gl 54 1098 J caasd

the mass of ethanol? 2040 /(8.°C) A JsNAe glis ) al

The specific heal of elhanol is 2.44 J/(g. “C)?
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The diagram below shows the enthalpy change during
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the dissolving process of ammonium nitrate. Which of

the following statements Is correct?

3| ! 53 a -
A — The process Is exothermic shaldl iale dadl - A
\ Jas gl il oy 3y s —
B —The heal lranslers from the syslem lo the el dacgl A sl fa5all e — B
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surroundings
C — This process lakes place in the heal pack

D -~ The enthalpy change sign is positive
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When barium hydroxide and ammonium thiocyanate

crystals are placed and mixed in a beaker on a wet

board, the beaker Ireezes lo the board as shown in

the figure below. Whal explain thal?

A - An exothermic reaction takes place and causes
the evaporation of water on the board

B - An endothemmic reaction takes place and causes
the freezing of water on the board

C - No chemical reaction takes place

D — No heal flow lakes place between lhe system

and the surroundings
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A quantity of low-fal milk contains 121 Cal. How

much this energy is equivalent in joules? S Jsall fuay A3l
A= 2.3x10° %
i 2.3%10% - A

2 3
B - 2.3x10°J 2.3x10°) ~B

- 5.1:10°
st 5.0%10° - C

D-5.1x10% 51x10°J-D

1 Cal = 1000 cal lcal=4.184]
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Equal masses of calcium, strontium, iron, and lead
were lell under the Sun al the same lime and for the
same duration.What is the ascending order of those
metals according to the increase in their
temperatures?

A - Calcium —Strontium —» Iron — Lead
B - Lead — lron — Strontium — Calcium
C - Calcium —plron — Strontium —Lead

D - Strontium —s Calcium — Lead —s Iron
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In the figure below, waler is stored behind a reservoir,

Which of the following stalements is correct?

A ~ When the water intake is closed the water behind
the reservoir has a kinefic energy

B - When water arrives the turbine, the kinetic energy
Is converted to potentlal energy

C - Some energy Is destroyed during the water falllng
from its high position in the reservoir

D - When waler arives lurbine, the polential energy is

converted to kinetic energy
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